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1. Find the EXACT value of the following
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2.  Find the EXACT value of the following
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3. Find the EXACT value of the following
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4. Find the EXACT value of the following.

 a) 
[image: image31.wmf]))

5

3

(

cos(

1

-

-

Sin

= _____
b) 
[image: image32.wmf]))

3

2

(

cot(

1

-

-

Cos

 = _____
  

c) 
[image: image33.wmf]))

4

(

sec(

1

-

-

Tan

= ______
d) 
[image: image34.wmf]))

13

5

(

csc(

1

-

-

Cos

= ______

e) 
[image: image35.wmf]))

5

1

(

tan(

1

-

Sin

= ____

e) 
[image: image36.wmf]))

3

1

(

csc(

1

-

-

Tan

= ______

5. Simplify the following completely.
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6. State the domain and range of each of the following functions. What type of value is the input? What type of value is the output?

	
	Domain
	Input
	Range
	output
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7. True or False. If the statement is false, correct it so it is true.
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8.  Find the EXACT value of the following
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